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Question Shuffling Allowed : No

Question Id : 8732655286 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (1 to 5)
Question Label : Comprehension

1-5 Questions : Read the following passage and answer the
questions that follow :

Qur present idea about the motion of bodies dates back to Galileo
and Newton. Before that people believed in Aristotle, who said that the
natural state of a body was to be at rest and that it moved only if driven
by a force or impulse. It followed that a heavy body should fall faster
than a lighter one. because it would have a greater pull towards the
earth.

The Aristotelian tradition also held that one could work out all the
laws that govern the universe by pure thought: it was not necessary to
check by observation. So no one until Galileo bothered to see whether
bodies of different weight did in fact fall at different speeds. It 1s said
that Galileo demonstrated that Aristotle’s belief was false by dropping
weights from the leaning tower of Pisa. The story is almost certainly
untrue, but Galileo did do somethmng equivalent: he rolled balls of
different weights down a smooth slope. The situation is similar to that of
heavy bodies falling vertically. but it 15 easier to observe because the
speeds are smaller. Galileo’s measurements indicated that each body
mncreased its speed at the same rate. no matter what its weight. For
example. if you let go off a ball on a slope that drops by one meter for
every ten meters you go along, the ball will be travelling down the slope
at a speed of about one meter per second after one second. two meters
per second after two seconds. and so on, however heavy the ball. Of
course a lead weight would fall faster than a feather. but that 1s only
because a feather 1s slowed down by air resistance. If one drops two
bodies that don’t have much air resistance. such as two different lead
weights. they fall at the same rate.

Sub questions

Question Number : 1 Question Id : 8732655287 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Our preset idea of motion dates back to ?

Options :

about:blank 20117
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Aristotle

1. ®

, » Plato

Copernicus
3%

Galileo
L4

Question Number : 2 Question Id : 8732655288 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

According to the Aristotelian tradition the laws of the universe can be
understood by ?

Options :
Logic
1. #

Thought
2.

Faith

3. %

Observation

Question Number : 3 Question Id : 8732655289 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
Which of the following falls down faster?
Options :

Feather

about:blank 3117
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) % Ball

Nothing
3. %

Lead

4.9

Question Number : 4 Question Id : 8732655290 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Find the word 1n the passage which means ‘opposition’?
Options :

- Logic

Thought
2. %

Faith
3. %

L Resistance

Question Number : 5 Question Id : 8732655291 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Find the antonym for ‘equivalent’ in the passage

Options :

Identical
1. ®

Simular

about:blank 4117
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Difterent

3.¢

. Opposite

4.

Sub-Section Number : 2
Sub-Section Id : 873265209
Question Shuffling Allowed : Yes

Question Number : 6 Question Id : 8732655292 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
The match by the time we reached the stadium.

Options :

had started

1.«

was starting

2. &
) would have started
3.
started
4, %

Question Number : 7 Question Id : 8732655293 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
My mobile phone 1s stolen (Choose the correct Active Voice)
Options :

Some steals my mobile phone.
1. ®

Someone has stolen my mobile phone
2.¥
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A thief has stolen my mobile phone
3. %

My mobile phone is stolen by someone.

Question Number : 8 Question Id : 8732655294 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
I said to my friend “Stop smoking” (Choose the correct Indirect Speech)

Options :

I ordered my friend that he should stop smoking

1. ®
I advised my friend to stop smoking
2. v
I told my friend that smoking 1s injurious to health
3%
I requested my friend not to smoke
4. %

Question Number : 9 Question Id : 8732655295 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

She was ignorant. She admutted it. (Combine these two sentences into
one Simple Sentence)

Options :

She was 1gnorant but he admuitted it
1. ®

Being 1gnorant, she admitted 1t
2. %

about:blank 6/117
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Despite her ignorance, she admitted it
3. %

She admitted her ignorance
4.9

Question Number : 10 Question Id : 8732655296 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
Find the correct sentence among the following :

Options :

One of the boys are making lot of noise in the class.

1. #
Furnitures are properly arranged in the hall.
2. ®
He 1s too weak to walk
3.¢
I could not be able to get through the examination mspite of my
hard work.
4. %

Question Number : 11 Question Id : 8732655297 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Choose the appropriate preposition:

She has got lovely gold bangles her arm

Options :

n

about:blank 71117
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on
3.¢¥

at

Question Number : 12 Question Id : 8732655298 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
Identify the tense in the following sentence:
How long have you been reading that book?
Options :
Past simple

1. #

Present contimuous

Past continuous

Present perfect continuous
4.9

Question Number : 13 Question Id : 8732655299 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Choose the correct spelling:

Options :
Playwright
1.v
Playright
2. ®

about:blank 8/117
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Playwrite

Playerite
4. %

Question Number : 14 Question Id : 8732655300 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Transform the following Simple sentence into a Compound
sentence :

Being a vegetarian. she doesn’t eat meat.

Options :

She 1s vegetarian; she does not eat meat

1. ¢
She. a vegetarian do not eat meat.
2. %
She 1s a vegetarian, so she does not eat meat.
3%
She 1s vegetarian. ...not eat meat.
4. %

Question Number : 15 Question Id : 8732655301 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes
Correct Marks : 1 Wrong Marks : 0

Turn into direct speech :

Ramya told me that she wants to go to Canada next year.
Options :

Ramya said, “T want to go to Canada next year”.
1. ¢

about:blank 9117
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Ramya says, “I want to go to Canada next year”.

2. %
. Ramya said, she wishes “to go to Canada next year”.
3.
Ramya says, “T wanted to go to Canada next year”.
4. %

Question Number : 16 Question Id : 8732655302 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
What is the synonym for the word ‘Synonym’?
Options :

Supremacist

Opposite

2. ®

Similar
3¢

Infinitude

Question Number : 17 Question Id : 8732655303 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Turn into reported speech :
I am going away for a few days.
Options :

She says she 1s going away for a few days

about:blank 10/117
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She said she 1s going away for a few days

2. %
) She said that she was going away for a few days
3.9
She said that she is going away for a few days
4. %

Question Number : 18 Question Id : 8732655304 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes
Correct Marks : 1 Wrong Marks : 0
Choose the correct sentence.
Options :
Her hairs were grown

1. #

Her hair is grown
2.¥

Her hair are grown
3%

Her hairs are grown
4. %

Question Number : 19 Question Id : 8732655305 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
He tried to kill the snake. 1t went mto the anthill.
Options :

mstead

for
2. 8

about:blank 1M/117
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still

3. %

however
4.

Question Number : 20 Question Id : 8732655306 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

He crossed Indian ocean twice.

Options :

the
1. ¢

a1l

zero article

Question Number : 21 Question Id : 8732655307 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
Which among the following is the correct sentence?

Options :

Ranadhir 1s going to arrive tomorrow

1. %
Ranadhir will have arrive tomorrow
2. %
Ranadhir will arrive tomorrow
3.V

about:blank 12/117
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Ranadhir will be arrive tomorrow

Question Number : 22 Question Id : 8732655308 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
Identify the correct sentence.
Options :

The porter insisted helping us with baggages.
1. ®

The porter insisted to help us with our baggage.
2. %

. The porter insisted to carry a baggage.
3,

L The porter msisted on helping us with our baggage.

Question Number : 23 Question Id : 8732655309 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
In which sentence is the Article “an” used correctly.

Options :

He eams an about thousand rupees a month.

Shakespeare is an renowned dramatist .
2. %

I had never visited an hospital before.
3. %

He has been here about an hour.
4.

about:blank 13/117
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Question Number : 24 Question Id : 8732655310 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Identify the sentence in active voice.

Options :
A Kkite 1s being made by the boy.
1. #

She was admired very much by him.
2. %

English 1s spoken (by people) in many countries.
3. % )

Somebody set the huts on fire.

Question Number : 25 Question Id : 8732655311 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

One word Substitutes.

A thing occurring again and again for a long time
Options :
anachronism

expatriate

chronic
3¢

coincident

General Knowledge
Section Id : 873265174

about:blank 141117
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about:blank
Section Number : 2
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 15
Number of Questions to be attempted : 15
Section Marks : 15
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 873265210
Question Shuffling Allowed : Yes

Question Number : 26 Question Id : 8732655312 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

In May 2024, who was appointed as the President of GST Appellate
Tribunal?

b
Lot & Youpbadst - §-01-@ G 2oy G
A S DL,
s h g B e
Options :

Justice (Retd) K.G.Bala Krishnan
b £ () st

Justice Surya kant

il ot

Justice (Retd) Sanjaya Kumar Misra

/'..-4/ &‘f[,f—/ (‘jﬂr‘f’)(mf}“”

3.¢¥

about:blank 15/117
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Justice A.S.Bopanna
b

by et (A

Question Number : 27 Question Id : 8732655313 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes
Correct Marks : 1 Wrong Marks : 0

The scientists discovered the deepest “Taam Ja” blue hole near which
country
|

s
" TArwm Ia'yﬂdwwfjhbf;uj}ﬂb
i -
5‘.,:{_:)_[:/? ' J,-,;,yl'

Options :

Mexico

about:blank 16/117
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Chile
wt

Question Number : 28 Question Id : 8732655314 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which Delhi Sultan was known as “Prince of Moneyers™?

a . , Ve
P¥imca % Mowsyevs ' v L g
§ e"’u.’ (T_'/

Options :

Alauddin Khalji

Y
1. ® (’SPQ/J

Firoz shah Tughluq

G s

Muhammad bin Tuglug

(o 2

4.

about:blank 17/117
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Question Number : 29 Question Id : 8732655315 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Gandhiji withdrew the non-cooperation movement because of

/ -

g}s@?_wry i@ EpV = o

Options :

Chauri-Chaura incident

AR . 2

1. v

Jallianwala Bagh massacre

S—-l&' d;; 4 ﬁ_L s C)"I—L’

2. %

Gandhi-Irwin Pact

splon oy )-pi¥
3. % ‘

Poona Pact

YA

4. %

Question Number : 30 Question Id : 8732655316 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

about:blank 18/117
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Which of the following was not the work of Rabindranath Tagore?
107 Rk it ey o s
Options :
Gitanjali

7
St

Anandmath

pb ot

2. ¥

(hare-Baire
. C 74
3. %

Gora
W
29

Question Number : 31 Question Id : 8732655317 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Rukmini Devi Arundale was famous dancer in
L P, Gl G . 7/
157 3O A i s s
¢ (4 ~ ¥y

Options :
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Kathakali

S

Kathak

i

e

Bharatanatyam

i

about:blank

Question Number : 32 Question Id : 8732655318 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following was the highest water fall in India?

LY o G 0 e 0

Options :

1. #

about:blank

Athirampally water falls

e

201117
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Kunchikal water falls
> N ¢
L
5

Hebbe water falls

Pl S

2. ¥

3. %

Jog water falls

A Y

4, %

Question Number : 33 Question Id : 8732655319 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Seismology is the study of
p ) e Vi Se:bualaagf "

Options :
Volcanoes

Ol T

Cyclones

3 Lo d

about:blank 21/117
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Earthquakes

‘yl.}

3.¢¥

Tsunamis

(o Ly

Question Number : 34 Question Id : 8732655320 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Who was the first Chairperson and Managi ‘
Bharatiya Mahila Bank? aging Director (CMD) of

/f g -~ ' f - L}
- ’ M v o les
__lﬁ-f:_-:‘ /; &/4,/:;, %;' z __J‘_’::" - - M

¢ “s o) (amD ) A

Options :

Usha Ananthasubramanian

(i L o) gt

1. ¥

S.M.Swathi
G @l
Leena Nair

e

3. %

about:blank 22/117
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Roshini Nadar

/‘;L‘ @:43

4.

Question Number : 35 Question Id : 8732655321 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Narasimhan Committee-IT was appointed to recommend reforms on

I = # . ¥y
W gl g L Bl o

—

Options :

Insurance sector

1% ":L?Cfv:"fﬁ
Poverty
w4
2. % /
GST
b
3-o2t-62
3. %
Banking sector
' A
o2 § Doti,
4. :

Question Number : 36 Question Id : 8732655322 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

about:blank 23/117
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Part IIT of the constitution of India deals with
.;-_*"f(‘;k,;du/, s Wbt LU

Options :
The Union and its Territory
Y (5_'," o o ér-:‘i"{

1. ®
Citizenship
"':f’/“;/
2. % -

Directive Principles of State Policy

df“‘"[é}?’;ﬂ“—”é(’:’é”

Fundamental Rights
(359 G L

4.

Question Number : 37 Question Id : 8732655323 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Who was the first Chief Election Commissioner of India?

o
- / , '/ ; > i
T 07,00 fW i 2 gl A

Options :

about:blank 2
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S.P. Sen Varma

L, g’ -g -

1. ®

Sukumar Sen

W/b\,f:/

2. ¥

Kalyan Sundaram

[—'J»"-/ ©, L’-'!’r

3. %

T. Swaminathan

Uﬂrc(j"l"j'(;

4, %

Question Number : 38 Question Id : 8732655324 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

What is the theme of International Farth Day 20247
/ " "
. ‘F‘Peﬂf 4 jﬂh&'\wi'imf&'ﬂﬁ Doy - 2024
Options :

Invest in our planet

1. ®

about:blank 25/117
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Restore our earth

o’ﬁ‘ 3/@:4/'5;;&;1

2. ®

Planet vs plastics
y
\_j...._.-/E—' ,‘L L{# ~” ) é_./

3.¢¥

Protect our Species

b'j/rf-fd)}..-: cr'f(:}f

4. %

Question Number : 39 Question Id : 8732655325 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Jim Corbett National Park was mainly the reserve of

A0 Ten Covpat Nakiowal Pk

Options :
Tigers
A
-
1. ¢
Lions

Rhinoceros »

about:blank 26/117
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Crocodiles
I

e

Question Number : 40 Question Id : 8732655326 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

What is the name of the document maintained by IUCN about the rare
and endangered species of plants and animals?

z C;'yl sbs> d;}j e bl $ 0996 Ly s
/ - Sk .
fqy(\f,‘_é/ Q;L./:sf[(._.,f,{f/ £ LU CN & a—,xuf,
Options :

Green List

N1 4

Red List
Sl ,JJ:_:J

2. ¥

Black List
ol S
®

3.

Yellow list

salish

4, %

Teaching Aptitude

about:blank 27/117
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Section Id : 873265175
Section Number : 3

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 10
Number of Questions to be attempted : 10

Section Marks : 10
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 873265211
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 8732655327 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

The role of a facilitator in classroom is
T - .
b bl szVLJ_r;* o st g/
Options :

To dictate information to students

bl ls lgten 50

1. %
To guide and suppurt student leaming
dld-’ Gt LJ-' J (,v
2.
To admin.ister tests
/£ eni S -
{./. > L-vl P Clsm /
3. %
To discipline students
/
4. ® | (JV

about:blank 28/117
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Question Number : 42 Question Id : 8732655328 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Primarily the development of child is depend on
- : e Liils gvig 5
f“/y“,;' 4/x)tf:,_f.’fs¢f
Options :
Parents

Al

Society

e

School climate

dole (o101

3. %

Environment

o Ul

4. v

Question Number : 43 Question Id : 8732655329 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
The position of the teacher is teaching learning process.
'3 : 5
sl bl o o gl (o

Options :

about:blank 20/117
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a leader

Lass

1. ¢ .

a dictator

1
2. # /’
a member
£ S
S
3. %
ad’i/rector
B4R
5 /{r
/ff’ b

Question Number : 44 Question Id : 8732655330 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Effective teaching is a function of

! . r
—— 5 o (V) i S
Options :

Teachers satisfaction

Ol ¢

1. ®
Teacher’s honesty and commitment
: ~ 2T
A 3l erwle) HHB
2. %

about:blank 30/117
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Teacher’s making students learn and understand

;
U S 62 g o0 pae S

3.¢¥

Teachers liking for professional excellence.

fi ' Va .
Sy 27 2V s S 5L
4. - - )

Question Number : 45 Question Id : 8732655331 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
What does the term “learning style” refer to?
f)/’/?fc:'-‘f " s easin; g S‘})'L 7 s
Options :

The speed at which students learn

i ’
) 3 3o

1. %

The preferred way a student learns best

= M Pt (0 3 (JlIe s luth

2. ¥ -

The number of subjects a student can learn

. e
.;d:;./_,,urpqﬁ Yoo G

3. % ’

The location where learning takes place.

o £ A

4. %

about:blank 31/117
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Question Number : 46 Question Id : 8732655332 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

What does “cognitive development” focus on in the context of
education,

L

o g B G P 62 S L
Options :

Physical growth of students
L gl S ot

1. ®

Emotional intelligence

b s

Mental processes and skills like problem solving and critical
thinking. .
1"‘ - £ Fa o L, _’.' a"’)
By G ! LA (Jo e et (s 2 Ja

3. ¢

Social interaction among students.

Pl gbalrolr ol

Question Number : 47 Question Id : 8732655333 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Interaction inside the classroom should generate

v K sy pla @b thof g e o

Options :

about:blank 32/117
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Argument
s

Information

Controversy

o

Question Number : 48 Question Id : 8732655334 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
Which one of the following statement is correct.
- i ;r /t:“‘
-t St> U.t:;'f’(),’f C}: s
Options :

Syllabus is annexure to the curriculum

7’ ' ™ L!
ﬁgw.::-'._g(ﬁuea}vf(s: =

1. ®
Curriculum is the same in all educational institutions.
' ra 5 -
.;f-—‘-'(..u olr o ur/’ﬂ'@.':"f’t"
2. %

about:blank 33/117
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curriculum include both formal and informal education.

%(}-L'?(l:’ro,_/zﬂ}fﬁ@‘/" 03“"’[‘&'0"1‘;

3.9
Curriculum does not include method of education.
'? f 1 i ¥ < 2
bl f 1 S lared N 7o
4, % O

Question Number : 49 Question Id : 8732655335 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which is the least important factor in teaching

f Ll
— o Wy ) P o

Options :
Punishing the students
o 1 5wt
1. v

Maintaining discipline in the class

(s /o 5 A5 Gr e 04

2. %
Lecturering in impressive way

- '} ‘_, r fr

Ot gp S o e

Drawing sketches and diagrams on the black board.
/ ; - il
W ,:“;j YL [!/,;:’,y/;/ egrd

4. % A

about:blank 34/117
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Question Number : 50 Question Id : 8732655336 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

The ability to learn by an individual is
A, o
o ol G s ot
Options :

Acquired by the individual

Ligo b =27

1. %
Developed by the teacher
e
o, U 5 50 (=)
2. ® e
Absorbed from environment
g
3. %
Occurred from within
t . "'J N . ;
ﬁ' 6' £ 41 '/ )l’ gAY
4. ¥
Geography

Section Id : 873265176
Section Number : 4

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 35
Number of Questions to be attempted : 35

Section Marks : 35
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 873265212
Question Shuffling Allowed : Yes

about:blank

35/117
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Question Number : 51 Question Id : 8732655337 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes
Correct Marks : 1 Wrong Marks : 0

Terai regions are characterized by

PPNV y o & 3L7

Options :

drained and densily forested areas between the Siwaliks and

the plains Jd[ﬁ

P LJL‘JP"OJ"!’MII
Ubu{/ﬂwg) e 3 Y2

Depositions of older alluvium in the river beds of uplands of

Himalayas - - ’:}l“' ’3-,:‘10’
u*/ U*UJ}MJ‘#U§) n

2. ®

the river beds of low lands of

ULU}L;bLijW 2l
J.- 2
465 Lo 2

Depositions of new alluvium in
Himalayas

2 g O/

Longitudinal flat botiomed valleys lying between lesser
Himalayas and Snwahks

L\ [/ff
ULU'} 2~ U_‘LJI)_,; ,,__)f AL:J 4 f’

about:blank o
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Question Number : 52 Question Id : 8732655338 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

The direction of South-West monsoonal winds in southern hemisphere

before crossing the equator in Indian Ocean is

MLMNU/’&’&_/J; ,J‘/l-hp(’”ﬂ/

13).4[1{(_.;.4"" \305‘,}" Ufbcf/ygf;

Options :

South-westerly direction

1. %
South-easterly direction
Cac (B~ =2y
2.¥
North-westerly direction
N U
3. %
North-easterly direction
e Qe
4. %

Question Number : 53 Question Id : 8732655339 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

about:blank 371117



6/13/24, 11:45 AM about:blank

Which of the following statements is incorrect in the occurrence of
inversion of temperature? L g
" /. r r I = (I)_/
¥ f Ll "
e 35 bl lf G USges & 25 &7 0 T
o~ *

Options :

When the earth surface uses more heat than it gains

3 .
.c’gydl;—/J I-f“'//{-d’g);,; = i*{fiwi"éb e Orr/c_l.d:’

1. ®
Flow of dense cnld air from hill tops to valley bottoms
.
G’"'@-‘J J u’(s‘:; .::!Uf)’(s',zﬁ"
% [,, V'
2. %

When cold and air masses come together

b
&_}’-” g 1_7*;’ Dyl}_/‘ Y

Advection of cold air over a warm surface

ey 3 g do S

4.«

Question Number : 54 Question Id : 8732655340 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes
Correct Marks : 1 Wrong Marks : 0

Tides are driven by
U"z.-,d//.#,)) J u*'/)ﬂ‘

Options :

about:blank -
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Gravitational force of the moon
ra
P U.:r [/ 3 /.r{’

1. #

Gravitational force of the sun

oy 6B Sz

Gravitational force of the moon and sun

eyl e 21 A8

3.¢

Difference in the water density

it T
Gi el d A

Question Number : 55 Question Id : 8732655341 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Plantation crop cultivation is mainly assoc iated with

Options :

Equatorial regions

oL hpot b

about:blank i
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Tropical and sub-tropical regions

éwnp(,&*)/-"y

2.9

Temperature regions

,_._.,;N 2y l_':/&) P27

3. %

Polar and sub-polar regions

F

QW (;:J!;(,f_’-;’ff" (f:'b

Question Number : 56 Question Id : 8732655342 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following countries is the largest textile exporter in the

world?

/r ) "
_.__-fa"-‘(y:'r'ﬂf/' L gue é?,L/a-‘:YC:*‘"’O.’.' Lo
‘ /
¢ ‘f’ Lct}_,}
Options :
India
b s
1. ®
Bangladesh

(./f:.}”ﬁ‘“‘

about:blank st
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Germany

3. 0%
China
3
4, &

Question Number : 57 Question Id : 8732655343 Question Type : MCQ Option Shuffling : No Display Question

Number : Yes

Correct Marks : 1 Wrong Marks : 0

The clouds extending high into the sky in the fc:rm qf towers or anvil
shaped tops which can produce hail, thunder and lightning are called as

U"E-f’/i‘.’ O"dfjf: d;v,*_tv;/ﬁ: .J/" d b1 5 Job o2
a ' < 1 92 10 Do)
;(-{;;W/gfaj, Qipj!'}:: Ul}./'f} {j #-’)' _,-’

Options :

Cirrocumulus

Y P2

1. ®
Nimbostratus
Tt ool
2. &
Cumulonimbus
3. ¢

about:blank

41117
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Altostratus

ioaddl

Question Number : 58 Question Id : 8732655344 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Eskimos of Alaska and across the Arcitic are currently known as

! 5 T O i oy
-:-'?"ff’ufo-?‘“ﬁ'" Al 2 (J:':_...-'LLA_):'(!f/ 1 on

@4 Efs_- Lr-f'
Options :
Himbas
o b

Maasal

oo b

Inuits

oh!

3.¢¥

Zulus

o5

4, %

Question Number : 59 Question Id : 8732655345 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

about:blank 42/117
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Pupulatmn growth will always tend to outrun the food supply — is the

main idea of one of the foﬂnwmg theories. ;
. ] o
} J;,o J Sleg La’La' el

L’b 15
Options :
Malthusian theory
A
1. ¢

Cannon’s Optimum population theory

. .
¢-"/L’ (,-;t:f 5l
2. %
Demographic transition theory
f,.f/'l:; V\‘);:.'_.a g-,:-l: F
3. %
Sadler’s theory of population
4. %

Question Number : 60 Question Id : 8732655346 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Geostationary satellites will be placed above a point on the equator from

the earth’s surface at an altltude of

oo 3L g et “""L"*”L“‘f"""

Options :

about:blank i
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360,000 km
], %

36,000 km
2. ¢

3,600 km
3%

360 km
4. %

Question Number : 61 Question Id : 8732655347 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

According to Koppen’s system polar climates are designated as

b Ghod s T b5 G ’Awfj

- -

Options :

F

Question Number : 62 Question Id : 8732655348 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

about:blank 44/117
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When was the first complete census conducted in India?

b Ao g Sy o 00

Options :

1872

1881

2. ¥

1891

1901

4. %

Question Number : 63 Question Id : 8732655349 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Weberis a economist
. !
= t
Options :

Russian

(f'" s

1. ®

Ameriacan

Lo

about:blank 45/117
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German

Vo

French

i

Question Number : 64 Question Id : 8732655350 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
Father of modern Economic Geography 1s

Fdf@)’/*-:";}}'.’ (olozs) ppp 2 LL

Options :
Murphy
%
1. % /
Jones
O~y
2. %
Chisholm
3. ¢
Perroux

4
o2

about:blank 46/117
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Question Number : 65 Question Id : 8732655351 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

What percentage of the Indian population lived in urban areas according
to the 2011 census.

;.j)/u_a,)d"j!/;{;)h JL—//-'QW;-U?[A-’(/ $ zo

$ O«.,_.-y(;-' ujw,/

Options :

25.26

31.16

2.

35.43

40.27

Question Number : 66 Question Id : 8732655352 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
Which is the largest salt water lake in [ndia?

._..(}.1-1’6/'/'-’4—_-'-..-'*-’ Jd[’"/(.u‘o'" WD

Options :

Dal lake

e

about:blank 47/117
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Chilka lake

iz

2. %

Vembanad lake

(7 r 50 e

Sambhar lake

et e b

4.

Question Number : 67 Question Id : 8732655353 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Who is the father of GIS?
/
(o0 J Gls S
Options :

Roger

. A

Tomlin
v

Y

Roger F. Tomlinson

pa st P
3.4 ° '

about:blank 48/117
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about:blank

George Tomline

e B o/l
4. % &

Question Number : 68 Question Id : 8732655354 Question Type : MCQ Option Shuffling : No Display Question

Number : Yes

Correct Marks : 1 Wrong Marks : 0

What is the percentage share of land of India in the world.

o ™ : : Pl
s ¥ 05y S0V Br G i S L0

Options :

2.2
1.v¥

2.4
2. %

3.2
3. %

4.4
4. %

f
4.;-*[*::.1

Question Number : 69 Question Id : 8732655355 Question Type : MCQ Option Shuffling : No Display Question

Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following rivers is not a tributary of Krishna river?

Options :
Varna
Lo

L% e

about:blank

FefO’;_l’ Osles ¥ Liff//i}ﬁ ot f 2
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Yerla
Ib
1
YA
3.¢
Musi
v
4. %

Question Number : 70 Question Id : 8732655356 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Isonifs are the lines joining the equal values of
" / /s e
s G Sor gsla s g 3 |sanits
Ve
Options :
Cloudiness

591!

1. ®

Sunshine

R R

2.

Rainfall
ol

3. %

Snowfall
L, ks

about:blank 50/117
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Question Number : 71 Question Id : 8732655357 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
Which of the following is by far the most important agent of erosion?
s ; .
Y i o B
o VAW G b (1 2
Options :

Running water

AP R

1. ¢
Wind
\
o
2. &
Glacier
./':;*L’(,
3. % S
Sea weaves
£ i
wA g yad
4.

Question Number : 72 Question Id : 8732655358 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

What is the average temperature of sea at the equator?
.p’ f /‘ ' j Ly ;
¢ b LL/,J}?;P;J bs! L{'“Jfﬂ"’/j ! b2
Options :

26°C

about:blank 51/117
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24°C
2. 8

990C
3. %

28°C
4, %

Question Number : 73 Question Id : 8732655359 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following countries has the highest population density?
. v e 2 ra . !
?c."ﬁ?}fc:! et Qtfdfg)‘ 7 {;’w ot o (}'._,,:ﬂ,;m‘
Options :

Bangladesh

India
Y

South Korea

LA

[-/Ifongkong
j’i" o

sl

Question Number : 74 Question Id : 8732655360 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

about:blank 52/117
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about:blank

Who proposed Least cost theory of industrial location?

;] & 4 &
s U e S

Options :
Losch
&7
1. %
Weber
4
2.9 /‘I
Wegenar
Ve
ﬁ-’
3. %

‘o b " Least cost Twovy 8) (mduskv

a) L.,cdrim:

Question Number : 75 Question Id : 8732655361 Question Type : MCQ Option Shuffling : No Display Question

Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following countries is the chief importer of tea?

< 7 / 2 : :
& ol wirs 3 :3[.3 I o Ml po oo

Options :

Russia

o)

1. ¢

about:blank
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USA
,,5;! ?A;-l‘__é bz by

Canada
ra

D_;:,J

Question Number : 76 Question Id : 8732655362 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Remote sensing satellites are mainly meant for
L -~ {.J {’ )
/é’cﬂé"éﬂﬁ"'{/)\’/}!’ (,-':Lv g.?f L d—*
o dr/ u-’-}

Options :

Obtaining earth’s surface data

Ljgols &5 Vb S e

1.v
Obtaining communication data
. b
Ligols U gumly
2. %
Obtaining weather data
L W3
s /{ daﬂb L::r 4 (¢

about:blank 54/117



6/13/24, 11:45 AM about:blank
Obtaining location data
L galelis ¥ Lo

Question Number : 77 Question Id : 8732655363 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

The average age of the earth is
Ve '
w ..__-/_f b s &

Options :
6,000 m.y
dles beoe
], % ]
4,500 m.y
Jloepe 4,500
2. ¢
3,000 m.y
Jo e 3000
3. % -
1,000 m.y
3 lbo©
4. % (){-/U‘_':l"’ '

Question Number : 78 Question Id : 8732655364 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

about:blank 55/117
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Cloudy nights are warmer than clear nights because of
. » R ) - ~
{3"2,,/ ,’j Py = Og) ol L) (_‘,.-:,',a ,)lf/:lf
t
Options :

Depletion of ozone layer

C,-J'-'FJ/& 3.0/
t - /;.’

Insolation

g E

2. %

Green House effect

P V. HE e d

3.¢¥

Terrestrial radiation
oo U g

Question Number : 79 Question Id : 8732655365 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
The ratio between total population and total cultivated area is called

f..au 3[:,,1; f,ﬁ,_}:; é’»::’:‘:}k'd//,r @7k

i o
cop &Y
Options :
Physiological density
R
Zold ol
1. ¢

about:blank 56/117
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Arithmetic density
o (pJ’q’ [

Agricultural density

;f-d‘«'l.':»r(().}

Gross cropped density

I Sy

4. %

Question Number : 80 Question Id : 8732655366 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

[n India human population has higher number of younger age group

because of . v B . Lr/ &
/ J o3l muobrsd D pn

Options :

Short life span and high birth rate
u"}‘,‘; Y2 ot ar Sp dd{vx/p.:i

Long hfespan and low bll"[h rate
.-ll C/fl rs) ;_;,ud‘ g,w/ (}')

2. ®
Short lifespan and low birth rate
e 1 ”~ i =
U"}‘;’ 5:»";'//11 o § S _aaP
3 ¥ g

about:blank 57/117
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Birth rate is equal to death rate
v - 5 -
e ipr ol o Y

4. %

Question Number : 81 Question Id : 8732655367 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Administrative regions are generally accepted as planning regions
because.

P funU‘f‘”’ﬂ’“/’U’ ol o Qi g K3
, i ‘_,;,),,ux:.a,u’df
Options :

It is a formal region

o Syt
] % -
It is a functional region
& ik ] L it »
[} -
2. %
Plan formulation and implementation need administrative
machinery
~
g 2P “/” i Jf o2l A7 A
3.
Work force is easily available y
ool = gLt s ot 2
4. %

Question Number : 82 Question Id : 8732655368 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

about:blank 58/117
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Earthquakes along the Himalayas and the foot hills are best explained in

terms of , l ! 7 Ll
I = -l ,
EO‘L ":'!t—'-’!_’f) J(}j/-’x ‘}.J‘L)Fp é‘; (;: r> 2o

Options :

Young age of Himalayas

Ao 2 9

1. %
Plate tectonics
2.
Fragile and unconsolidated rocks
ok / 1 f‘. b
U"'L; (L""v-“ /.rf P
3. %
Divergence of plates
T
-—-’l“"‘ o P/Jf: /l:S-!
4. %

Question Number : 83 Question Id : 8732655369 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

The first cotton mill of India was established at
7 Flr / \ J/ L‘/:’ . '
108 VOV s S lid0ldi

Options :

about:blank 59/117
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Mumbai
0.‘,»‘
1. & -
Ahmedabad
>l P a2t
2. &
Kolkata
;w/
3. ¢
Boroda
) 59/
4. %

Question Number : 84 Question Id : 8732655370 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

The first detailed map of India was prepared by
L o 4 # .

Options :

De.Anvilla

! (3

Eratoshtenese

)

about:blank 60/117
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Ptolemy
Yo
Lj."s L* 5
3. %
James Rennel
')
2 e
4.9

about:blank

Question Number : 85 Question Id : 8732655371 Question Type : MCQ Option Shuffling : No Display Question

Number : Yes
Correct Marks : 1 Wrong Marks : 0

If the tilt angle is less than 3" the air phﬂtograph is known as
pﬁd’a?nfh J/ )14#/.::."6' v 27 ffJ

Options :
Oblique photograph
pheto raph Oe{/‘.
1. ® 7
Vertical photograph
aa —— b v
| Pheograph & o4
Ortho photograph
3. %
Trlmetmgon photogra h
f oy ¥ /’
4, % /

about:blank

VS s N
g e oS
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History
Section Id : 873265177
Section Number : 5
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 30
Number of Questions to be attempted : 30
Section Marks : 30
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 873265213
Question Shuffling Allowed : Yes

Question Number : 86 Question Id : 8732655372 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

In which Indus valley sites , the famous “first street” was excavated?

"
‘ / % ":' -~ ¥
% f’f?{éf
‘ja:'.)b’ & Lo
Options :

Harappa

b

3

Mohenjodaro

}/{?J‘f,_‘;}"‘

2.¥

about:blank 62/117
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[Lothal
4o
Kalibangan

o d¥

4, %

Question Number : 87 Question Id : 8732655373 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes
Correct Marks : 1 Wrong Marks : 0

During the Rigvedic period, the Aryans worshipped the following deity,
who was equivalent to the Greek deity Dyauspiter.

¥ X - f
(7 2 spt 84 gL o 1 T s *
- P
. e,
o33 ol 2 by O

Options :
Ushas
s
1. #
Prithvi

Cper )

about:blank 63/117
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Indra
i *
Wy
3. %
Dvaus
b
'
4.9

Question Number : 88 Question Id : 8732655374 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

During the later vedic period, the duty of Bagadugha was

, # 2 . ~
(,yf)u?x;:' J w/»; % (_)f/y' J—f/,r-? s
- 7

Options :

Collection of Taxes

s S

Treasurer

about:blank 64/117
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Courier

S
Military General

dor er 5

about:blank

Question Number : 89 Question Id : 8732655375 Question Type : MCQ Option Shuffling : No Display Question

Number : Yes
Correct Marks : 1 Wrong Marks : 0

The three-fold path (Tri Ratnas) in Jainism was proposed by

7 S on
g (U""L'Jer-") f b py b e ot

Options :

Rishabhanatha

bl L2

1. ®

Parsvanatha

: U |
) [H (/ )—"J (3

2.

about:blank

- /7 . ¥ 4
sly W 0t 0
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Mahavira

|

Joia

3.¢¥

Bhadrabahu

,)%Z"’J/-@ff

Question Number : 90 Question Id : 8732655376 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes
Correct Marks : 1 Wrong Marks : 0

From which of the following pillars of Asoka, “Lion Capital”, the
emblem of Indian Government was adopted?

02 zupp glog o o o G 055> £ Kl
. Vo o DD .UF
PLlt ST et
Options :

Vaisali

Jle s

Allahabad

sLT Al

about:blank 66/117
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Sanchi
(F
3

Saranath
,ﬁ’rb Lo

4.

Question Number : 91 Question Id : 8732655377 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following was not the work of Asvaghosha?

- S 2 y + - 4 . 1
Q(}I{({:"J L“’Jo; !:r-’-'i ____.t:..:'-ﬂ) c’f"'UJ’O?.“ d,"’ i
Options :

Mahavibhasha sastra

lals aLL[u me

1. ¥

Buddha Charita

bz

about:blank 67/117
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Soundaranandanam

f-uﬂ ,.-fﬂ} L.:

3. %
Sariputra Prakaranam
DV L g
s
4. %

Question Number : 92 Question Id : 8732655378 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following was not a Tamil work.

</ ’ g R 7 ; '
ieUlo pU i 6005 w2 s o
Options :

Silappadikaram
pollases
Manimekhalai

¥
Gl i

about:blank 68/117
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Nitivakyamrita

Loy

3.¢¥

Tolakkappiyam
ARE

Question Number : 93 Question Id : 8732655379 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

In the satavahana period, which is the important port in the west coast?

i(sﬁ;ﬂvfjj;f‘y:bwwjf L;(JJLU Ej/ﬂ_» 6:' 292 t.{!}?{,_.,
Options :

Mysolia

u,)—ﬂ‘“

Ca
-

Kodura

/
¥
Vs

about:blank 69/117
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Tamralipti

cs'-?!/,v

3. %

Sopara

LY

4. v

Question Number : 94 Question Id : 8732655380 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which Pallava ruler introduced the construction of Rock-cut Temples?

-~ }" . ':‘... ,':; ) }I
Pl o Auy(" S
Ly 7
33 J_J
Options :

Simhavishnu

Sy Lo

1. ®
Mahenddravarma [
'1 '
) Ls Gpar B,
2. %

about:blank 701117
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Narasimhavarma |

about:blank

Lu,’ Eﬂ/_/l )lkf,

Mahendravama Il

by b 5
B

4.

Question Number : 95 Question Id : 8732655381 Question Type : MCQ Option Shuffling : No Display Question

Number : Yes

Correct Marks : 1 Wrong Marks : 0

According to R.S. Sharma, the feudalism in India was started during

which of the following dynasty.
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Options :

The Kushans

DU

1. ®

The Guptas

2. ¥

about:blank
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6/13/24, 11:45 AM about:blank

The Rajputs

3, %
The Satavahanas
Gl
4, %

Question Number : 96 Question Id : 8732655382 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes
Correct Marks : 1 Wrong Marks : 0

What is the meaning of “Perumakkal” in the local self government of
the Cholas?

Options :

The wards in the village

Vi
}5;': LU;"':I{/

1. #

The lottery system

fu;Jaj’;u

about:blank 791117
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The members of the village assembly

3.¢¥

Name of the village assembly

‘»Uk/u&f.’uj}lff’

4. %

Question Number : 97 Question Id : 8732655383 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes
Correct Marks : 1 Wrong Marks : 0

Where did Ganapati deva issue an inscription ensuring the security to
the foreign traders?

g
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Options :

Bhattiprolu
W
PP (s

Bayyaram
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about:blank 731117
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Malkapuram

o L

Motupalli

G 57

4.v

about:blank

Question Number : 98 Question Id : 8732655384 Question Type : MCQ Option Shuffling : No Display Question

Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following work was written by Amir Khusro?

l
Lo [ 5 T kBT
Options :

Tarikh-i-firozshahi

Tughlaq nama

I

2.

about:blank
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Putu-us-saladin

BN eI

3. %

Tabagat-1-Nasiri

Gl e

4, %

Question Number : 99 Question Id : 8732655385 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Who among the following was not the devotee of Krishna?

o ome g . B , .
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Options :

Vallabhacharya

= tz L
Mirabai

A

about:blank 75117
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Ramananda

ol
3.¢

Chaitanya

Question Number : 100 Question Id : 8732655386 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Abdur Razzak visited Vijayanagara Kingdom during the region of the
following.

/ /
L) r [} /‘ / N » !
A-U/}f”"'fﬁj o™ 182 & L')/}}J!O'J e (!‘J ,.?'J/“"
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Options :
Harihara — |
I
Ry
1. ®

Devaraya — |

LY 1> M

about:blank 76/117
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Devaraya — 11

!-;’) 7 ‘){’

3. ¢
Krishana Deva Raya
/S
L b o B2
4. % g

Question Number : 101 Question Id : 8732655387 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which Mugal ruler introduced mansabdari system?

é} Uv-ﬂi LD VIS oL..-:aL(}x» U,J

Options :

Akbar

/

/:,ll

Shajahan
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about:blank 771117
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Jahangir
7

Al

3. %

Aurangazeb
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Question Number : 102 Question Id : 8732655388 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Who introduced the permanent land revenue system?

Sy .7 o , L
‘f\;‘:_-) .__,,L:,» e J(.I-‘L'JW b}u#r‘: (s>
Options :

Lord Wellsley

(ﬂ; 5

%
Lord William Bentink
. _A--":_"'f 2 ),,.I'U
2. ® -
Lord Cornwallis
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3.

about:blank 78/117
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Lord Dalhousie

(_ré;:l’_’n ..I:"JIJ

Question Number : 103 Question Id : 8732655389 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The year, in which the General-Enlistment Act was passed.

_ 7
PO R
s Wil

Options :

1855

1858

1857

1856

4.9

Question Number : 104 Question Id : 8732655390 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

about:blank 791117
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“Go back to the Vedas” was the slogan of the following organization.

3 ) "/ e : > ¢ / s
- (;_‘1"“ S I P vy

Options :

Brahma Samaj

el Loy

Arya Samaj
2l f;u’f

2.
Theosophical Society

& Low o s’

Ramakrishna Mission

oo LAl

Question Number : 105 Question Id : 8732655391 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

about:blank 80/117
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about:blank

Maitch the following incidents with the years they took place.

a) Jallian walabagh massacre
b) Chirala-Perala Satyagraha

¢) Gandhi-Irwin Pact
d) Direct Action Day

lakb (4
C A SRR
QA (f{\
a3 (v

Options :

a-ii, beiii, c-iv, d-i
1. v

a-ii, b-ni, c-i, d-1iv

2. %

a-iii, b-ii, c-iv, d-i

a-i, b-ii, c-iii, d-iv

Question Number : 106 Question Id : 8732655392 Question Type : MCQ Option Shuffling : No Display

Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

about:blank

1) 1946

i) 1919

i) 1921

iv) 1931
o) e lshs d:} &>
(l‘d:; ¢ ebilb e (@
UL""/ AV - JJJ (b
d,uLu ) (5@’/" v (e
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Who was the author of *Yayati charitra’?
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Options :

Kandukuri Rudra Kavi

Lo
5 Low PRI

1%
Addanki Gangadhara Kavi
o Y Ma
I ) J}' “_)l
. sy Lo e S
Mariganti Singaracharyulu
Y
3. %
Ponneganti Te]aganaryudfu
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4,

Question Number : 107 Question Id : 8732655393 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

In which year the Battle of Padmanabham took place.

*
s @by L o ol LS
Options :

1794

1. ¥

about:blank 82/117
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1795
2. %

1894
3. %

1895
4. %

Question Number : 108 Question Id : 8732655394 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Who introduced the Ryotwari System in the ceded districts?
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Options :
Captain Reed
b b
O
1% - 3

Thomas Munro

g gl

2. ¥

Sir Arthur Cotton
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about:blank 83/117
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C.P.Brown
U?_’/J - (Si -

4, %

Question Number : 109 Question Id : 8732655395 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The first widow remarriage in Andhra has taken place on which of the
following date?

y ; / = | / ! ;
R ok g gy S b G G5 e

Options :

11" December, 1881

188,03 1)

1. v
11" December, 1781
ht,l/?“-/j W
2. &

26™ January, 1881
182y 7 },? 3 b
3. %
26" January, 1781
1RV 2k

Question Number : 110 Question Id : 8732655396 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

about:blank 84/117
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Who was the secretary for the Home Rule League in Andhra region.
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Options :
Konda Venkatappaizh
4 :
s 12
1. % '

Pattabhi Sitaramaiah

L) o @by

Gadicherla Hari Sarvothama Rao

% b Le-‘*;)/-"q,{ 30 4

3.¢¥

Tanguturi Prakasam

y
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Question Number : 111 Question Id : 8732655397 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following was not associated in the formation of Andhra
State in 1953,

s : .
U/‘.:.MFLH Lo i g 1953 O ot (g (o 2

Options :

about:blank 85/117
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Thar commission

J.V.P. Report
@—Jﬁ'.’)’ U:—(_s') - &

1. ®

2. %

Report of Kailasanath Vanchu.

3. %

Fazal Ali Commission.

A 4%

Question Number : 112 Question Id : 8732655398 Question Type : MCQ Option Shuffling : No Display

Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

In which year the Ottoman Turks captured Constantinople?

- PR s
WAk o s b 0ff Glis or d G

Options :

A.D. 1451

A.D. 1543

A.D. 1453

3. ¢

about:blank
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A.D. 1343

Question Number : 113 Question Id : 8732655399 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Who was the ruler of England at the time of the Glorious Revolution?
ol g by £ Yy wo’f ,.;
o Oy O

Options :
James-I|
- L
1. ®
Charles-1
s >
=S W,
2. %
Charles-I1
O“:Jf[; '/—_4
3. %
James-I1

et 55

4. ¥

Question Number : 114 Question Id : 8732655400 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

about:blank 87/117
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Who was the author of “Spirit of Laws™?

ie)f__;w R N

Options :

Montesquieu

P
ki’

1. ¥

Voltaire

2

-

2. %

Roussean

/.,,JJJ

3. %

J.S. Mill

L}A—J"ﬁ

Question Number : 115 Question Id : 8732655401 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Who will elect the Judges of International court of Justice (I.C.1)?
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Options :

about:blank 88/117
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Security council and UNESCO

S o e ot

1. ®
General Assembly, and the Economic and Social Council,
W s '
P U (olwsl - &) J2
2. ®
The Secretariat and General Assembly
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3. % -
General Assembly and Security Council
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x
4. &
Civics
Section Id : 873265178
Section Number : 6
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 15
Number of Questions to be attempted : 15
Section Marks : 15
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 873265214
Question Shuffling Allowed : Yes

Question Number : 116 Question Id : 8732655402 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

about:blank 89/117
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Traditional approach emphasizes on
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Options :
Precision

Y/
s Gl

1. ®

Reality

Values

4

3.¢

Objectivity

4, %

Question Number : 117 Question Id : 8732655403 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following word is associated with the terms “Lassez-
faire”?
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Options :
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Communism
4

Federalism

L_.S}L&;

Fascism

g

Liberalism

(;”.:’ >U 7
.

4. %

Question Number : 118 Question Id : 8732655404 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

‘Organic theory of State’ is associated with,
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~
fg
Options :

Auguste compte
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Herbert Spencer
2 b
P P
R4

2
T.H.Green
V4 L
(")i—/""‘ 7 3
3, % g
Hegel
N
-
4. %

Question Number : 119 Question Id : 8732655405 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

A Democratic government is elected by
! i S
r ¥ ~ / T
Options :

People

about:blank
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Political Parties

ol (o b

4, %

Question Number : 120 Question Id : 8732655406 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The act of 1909 was associated with.

Options :
Introduction of Separate Electorate. (Communal Electorate),
h JJ;LUF ‘*/a-%J;',f.':f ons NS
(e M) ey 3,5 )

1. ¢

Decentralization

AL

Dyarchy
_"::}:]/LP (3:{/) >

3. %

Legislative councils

) (}ﬂjjbm_,;l?

4.

Question Number : 121 Question Id : 8732655407 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

about:blank 93/117
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Who stated that “every action is designed interns of the end which it
seeks to achieve?
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Options :

John Locke
7
I G ls

J.J. Rousseau

s -2 &
2. &
Machiavelli
i
(ps L
3. ¢ <7

Karl Marx

) (,-:{:L()Jk'

Question Number : 122 Question Id : 8732655408 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

4.

The subject of 97" amendment of India constitution was
s, ;
/ - [ ;
. # S F ol
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Options :

about:blank 94/117



6/13/24, 11:45 AM about:blank

Extension of reservation for SC’'s & STs.

4 B o oa o ,
529 G 2220 A STS,0) s¢s

1. ®
Exchange of enclaves between India and Bangladesh
DUV 0 o/ Olars £ Jlo 191 OV
2. %
Establishment of National Commission for scheduled Tribes
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Co-operative societies
}5 b b L
4.9

Question Number : 123 Question Id : 8732655409 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which one of the following is not a key feature of parliamentary form of

government? b o
S A LA RO I) 4
(07
Options :

One Executive head

/
oy e lliw) 2

1. ¢

about:blank 95/117
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Absence of fixed term

2. ®

Collective responsibility

() M}(f[ﬁ{f

3. %

Fusion of Executive and Legislative power.

Elanl Vs & SLopli # o LB

4, %

Question Number : 124 Question Id : 8732655410 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following is not one of the three kinds of minority rights
identified will Kymlicka .

— ¥ i ' -~
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- L

Options :

Poly ethnic rights

LGP e

Self government rights

B @ Lar o7

2.
Special representation rights
F gty 4 iy 3 ¥
Opr s G e 0,07
3. %

about:blank
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Multicuitural rights

,.. s
B &)

4.9

Question Number : 125 Question Id : 8732655411 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Whose view is that “Political Science is Science of State™?

e
G“UAUJ ijl,z QfxiuLj ”Jlfﬂ_f,...,-'[:al

Options :
R.G.Gettel
% r
2 AL
1. ¢ 3 ’
Seeley
2. ® B
H.J.Laski
7
G- & g
3%

David Easton

[ b
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Question Number : 126 Question Id : 8732655412 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

about:blank 971117
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The m-.iginal Indian constitution was hand written by whom among the
following.

s / . , /S ‘. ‘
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o
§U sl
Options :
Vyayalaxmi Pandit
s
b,hr -
L T
Prem Behari Narian Raizada
ol 2b epll 6’/%{-(1,;/

2. ¥

Dr. B.R. Ambedkar
/ el 3 }['l
P % EWART:: A

More than one of the above
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4. %

Question Number : 127 Question Id : 8732655413 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following is the first step in the process of policy
formulation.

t o Lol ty Ve £obarb o b 2

Options :

about:blank 98/117
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Making the policy decisions

LA L L el

1. %
Planning of Policy Implementation
; ' Ay o
Cpw w3 WL AL
2. %
Generation and evaluation of policy options
kS B .
G2 GhE S o blast £l
3. %
Analysis of the existing situations.
4.9

Question Number : 128 Question Id : 8732655414 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Eight Principles of the Behavioral approach of political science is
generally known as

o op f e bl
o osbpls SO BT LYY E 2

ro Ul o
Options :

Regularities

G G L

about:blank
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Pure Science

e g

2. %
Verifications
el -
Al
3. %
Intellectual foundations
. /s
(A s e
4.«

Question Number : 129 Question Id : 8732655415 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

“Credo of Relavance” signaled

f,:._)a;t;l t_p/.bu(of " Q"f‘;; L/MCA“

Options :
Modernism
A
1. %
Behaviouralism
(}F //J
2. %

about:blank 100/117
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Post-Behavioralisms

Jf A

3.¢¥

Rationalism

Question Number : 130 Question Id : 8732655416 Question Type : MCQ Option Shuffling : No Display

Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

In a federation federating units desire their power from.

?@-I/Wf’iﬁm G o ol O plis o 0 s

Options :
The constitution
£
< [
v g
Legislature
¢ o
2. ®
Judiciary
NJ/U-'
3. % =
Executive
Al Uy
4. %

about:blank
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Economics
Section Id : 873265179
Section Number : 7
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20
Section Marks : 20
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 873265215
Question Shuffling Allowed : Yes

Question Number : 131 Question Id : 8732655417 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following cost curve is not U-shaped curve?

) ! *’f/,.: i o A "
TE (G v e o oS P

Options :
AC Curve
(5 A
1. ®
MC Curve
@'_c“'" Me
2. %
AFC Curve
6*;’:“ AFc
3. ¢
AVC Curve
d"..:ur AVC.
4. %

about:blank 102/117
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Question Number : 132 Question Id : 8732655418 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

In a four sector economy, which of the following equation explains the
measurement of National Income.

/ _ _ -
Sumt &P =y low .-:(,T-d:.: (010_1’“@“[“/[{
- s
-gd{‘;-’j(ft':'ﬁ
Options :

Y=C+[+G+(X-M)

1.
Y=C+I+G+T+X-M
2. %
Y=C+I[+G-X+M
3. %
Y=C+I+G+T
4. %

Question Number : 133 Question Id : 8732655419 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

According to Harrod R.F., Warranted Growth is .
" Wonnarked Grok G [0 815 5le £ Haerop -R-F
Options : |
Full Employment Growth Rate

Q:'//U;-UXJW}H()J‘/
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Inclusive Growth
BN § o’
2. %
Equilibrium Growth Rate
é, Lo e oy
oS 8 Y
3.¢
Under Employment Equilibtium Growth Rate
Q”? S0l Wow e
4. %

Question Number : 134 Question Id : 8732655420 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following institutions are called as Brettonwood sisters?

Erm , .
‘{Q:dﬁf:f Bretontiood Sretavs” <05 aﬂéj)/,fd;#

Options :

UNDP and UNESCO

IDA and ADB

2. ®

IMF and ADB

3. %

IMF and IBRD

4. v

about:blank 104/117
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Question Number : 135 Question Id : 8732655421 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Goods and services Tax was implemented in India since.
F
;Ué’(}idﬂ'ué"v dy’—" dlﬂxﬂdlf-
Options :

| January, 2017

2013 s 92 !
1. ®
| April, 2017
201 (b
2. & '{:
I July, 2017
2017 (27
3. %
I October, 2017
.20{?/}’/’
4, %

Question Number : 136 Question Id : 8732655422 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
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The per capita Gross Domestic Product of India (at current price) in
2021-22 was around.
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T A poler e 5f o 2ome gL 2
ca 60! LT

Options :

Rs. 1.40 Lakhs

= ,of?,H Yo

1. &
Rs. 2.17 Lakhs
Z
=) e -y
2. %
Rs. 1.92 Lakhs
__;Um B Sq__
3 & ?
Rs. 1.71 Lakhs
e Rt
4.9

Question Number : 137 Question Id : 8732655423 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The correlation coefficient lies between the values of

ey ol L1 b w0 £ E0 p

Options :

about:blank 106/117
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0to +1
4 o
| %
0lto 10
LAY
2. %
-1t00
o U}
3. %
-1 to +1
+1 -
4. &

Question Number : 138 Question Id : 8732655424 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

“ An i Mgty wto e Nadiwne omd Causesd 51,
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Options :

P.A. Samuelson

b 21y

about:blank 107/117
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IM. Keynes

Adam Smith

3. ¢

Alfred Marshall

b bs 1

Question Number : 139 Question Id : 8732655425 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

fﬂm Increase of Rs.100 crore in investment leads to rise of Rs.500 crore
in National Income the value of multiplier,

v o 4 * £ '

agm1fy = o L) ..f.f,._,_{;f ;:;/inh'b e {f!!,,._._rL/_/
wa i . T

— g W M’—.;: L':-.:f,:Lﬁl L/,.:rﬂ’ ;-?J/ Sev (e

Options :

5
1. ¢

10

15

about:blank 108/117
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0.20

Question Number : 140 Question Id : 8732655426 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The curve that
known as

- . /-,..;_ r o " .
va) 3 & LG ) @‘,b,:»ﬁ@;m ~ G J>

shows the relationship between inquality and growth is

Options :

Indifference curve

@ gt A L

| %
Demand curve
G
2. ®
Kuznets curve
(55 KUZNET s
3.
Lorenz curve
U\‘;'A Lo RENTZ.
4. %

Question Number : 141 Question Id : 8732655427 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

about:blank 109/117
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The major impact of Globalization on Indian Economy is
a s S e T % Lee g E7 0
] e ("t %1“ A e ln i
Options :

Stabilization in Balance of Payments

_ /,
Ut sy Loyt

1. %
Reduction in the Poverty but increase in the economic disparities
_ o 2 ;
L U7 s (o les (_)? A Peed
2. ¥

Steep rise in the export of textile goods

- 2 £ -
¥ TP ’,«L:J $ LY (e 15
: ks 2

e
3. %
Sustainable increase in the industrial growth
o > T R
S e Rt DA
4. %

Question Number : 142 Question Id : 8732655428 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Micro Economics is also known as
/ X .
g — Sy

Options :

about:blank 110/117
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Employment theory

Income theory
JD o 1

Price theory

24 K‘f"‘f’r

Output theory

) "_f/).)v/:-_';/l

4.

Question Number : 143 Question Id : 8732655429 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Which of the following is equal to disposable income?
& (sobu g7 &l f
Options :
Personal income less direct taxes
(_y;/‘;'f,f:_’.:w; by w o oml G5

1. ¥

Personal income plus subsidies

far = bl f50 605

about:blank 117117
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Personal income less indirect taxes

GI S oia? Yl < Gl 55

3. %

Personal income less subsidies,

- .

Question Number : 144 Question Id : 8732655430 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

L ool G ob & @) W £ QosTow’
Options :

Six stages
)
o

Five stages

ek

2.

Seven stages

™

about:blank
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Four Stages

o

4, %

Question Number : 145 Question Id : 8732655431 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which of the followin
Five year plan?

e K o putrn ,JL,./g:, Ol L0l e )

g was one of the main objective of India’s Four

+ Lo patlen
Options :
Garibi Hatao
. 3R

Growth with stability

2.
Food work and pmductivity
) ; - f)’ (- z. ///f
3. %
Growth with social justice and equality
éﬁd/r’g b ot Slan) g b
4. %
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Question Number : 146 Question Id : 8732655432 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following was announced :
: under Atm
Package for Micro, Small and Medium Enterprises. Ruithiter Bhiate)

v

E‘J fu;f’,ﬂ‘! {;;;';;K f‘:yﬂ"’" ;’L“J}ffl i}g; g ﬁ"/'}

My

Options :
Champions Porta|
Ko ol

1.V
Vijiyibhava Portal
Fys 46

Udhyan Portal
VZ S L
% B -

3.

Bharat Portal

2 e

4, %

Question Number : 147 Question Id : 8732655433 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

about:blank 114/117
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Coefficient of Variation=10, Arj i
., Arithmetic mean =
standard deviation is 50, the value of

= sl b gy g )
¢ Gy W S SUET (ol

Options :

60
40

10

500

4.

Question Number : 148 Question Id : 8732655434 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
The word *Micro’ was first used in Economics by
& f ;, tM
4 -
.
¢ b_,_/ !
Options :

Keynes
1. ®

Ragnar Frisch

2. ¥
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J.R.Hicks

Marshall

4. %

Question Number : 149 Question Id : 8732655435 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The term ‘Regression’ was introduced by
f . - . = X i '
) Lf._?)LQ“‘ d_(_’,l 9 * Qf__clvc.!:!ﬂﬂﬂ » 3

Options :

R.A. Fisher

/jé~¢l T

Sir. Francis Galton

1.

2. ¢
Karl Pearson
> L,/
@"‘/ A

-

3, &

Bowley
4, ®
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Question Number : 150 Question Id : 8732655436 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

150. Fiscal Policy can be used to

A 8 Lon e bl
Options :

Control unemployment

éﬁl-}_,{(f,;’ e o

1. #
Control Interest rate
¢] £:£{;Jf [;/;J > C‘/:-/
2. % i
Control Exchange rate
2bibal, g5 8 poba s
3. % ]
Control Inflation
: (s p) -
_,:,IJ{J[;;Z b ¥ X %:f
av 7
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